. Two Variable Simultaneous Equations (graphically)
	Lines intersect

Equations can be solved

ONE solution

Solving the equation results in x = a number and y = a number, so there is a unique solution
y = -0.5x + 2
y = 1x - 1
	


	Lines Parallel

Equations can not be solved

NO solution    Equations are INCONSISTENT

Solving the equation results in something like 3 = 0

y = -0.5x + 2
y = -0.5x
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	Lines The Same

Equations can be solved

INFINITE solution

Solving the equation results in something like 3 = 3 or 0 = 0 which is always true so there is infinite solutions

y = -0.5x + 2
2y = -x + 4

Equations are DEPENDENT
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How can we identify each of these situations when we attempt to solve the system of equations?
































































































































































